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ECE 3055 Quiz - November 12, 2008
1. The _________short term scheduler_________ in an Operating System attempts to select a new process, switch to it quickly and start running it on the CPU.
2. In a modern OS, what hardware feature would stop programs with long CPU run times periodically so that other process can also run? (Explain including a short functional description of how it would be physically implemented using common digital hardware components)
The OS Time slice interrupt. In hardware, a counter is used. When it counts down to zero a hardware interrupt signal is generated.

3. What events would cause the mode bit to change state?
Switching from user mode to kernel mode, and then revers state change fwhen switching from kernel mode back to user mode. The most common events that cause this would likely be OS API calls and time slice interrupts.

4. List the three types of common events (i.e., not errors) that will move a process out of the CPU run state.

A. The Process Terminates
B. Process makes an OS I/O API call
C. Time slice interrupt occurs
5. Would a long I/O  bound job on a system that is not running other CPU intensive processes be likely to spend more time in the ready queue or the wait queue (explain)?

More time in wait queue, since I/O waits would be a lot longer than the ready queue wait times.

